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WIEE MH}MLTREER (BRX) BXDRBRHFH

# i FE - BKTE Bify % B B (@ ® & B =
BRI 3,996,400 + 83,001 4,079, 401
EEARE 3, 996, 400
ERZE 83, 001
T DAtR AT 3,996,400 x 53.85% ( 35% =+ (1 — 35% ) ) 2,152, 061
EHIRIE 4,079,401 + 2,152, 061 6, 231, 462
—REERS 6,231,462 x 53.85% ( 35% + (1 — 35%) ) — 7,104 3,348, 538
SHMEE 6,231,462 + 3,348, 538 9, 580, 000
HEGEMALE 9,580,000 x 10.00% 958, 000
EHEAH 9,580,000 + 958, 000 10, 538, 000




BENRE MR REHA BRI E) FEDRRR LT

% ¥ Rk - IR B B B B & & B =
BRI 4,079, 401
EX L RES 4,079, 401
EX L RES 4,079, 401
EX P 3,996, 400
FtE# R 386, 800
1 StE (R 1.00 386, 800 386, 800
=
EX L 2,795, 000
2 BRI - BB 1.00 238, 800 238,800
=
3 BREHER 1.00 864, 600 864, 600
=
4 ERFOHS 1.00 1, 100, 600 1,100, 600
=
5 BREZS T 1.00 335, 800 335, 800
=
6 MEHEROMY FTEH 1.00 255, 200 255, 200
Eﬁ
BhiE - | 396, 300
7 BHEIHE 1.00 109, 800 109, 800
E]
8 FRHE 1.00 109, 800 109, 800
E]
9 mEW|E 1.00 176, 700 176, 700
E]
REY 418, 300
10 SREEER 1.00 418, 300 418, 300
=




BENRE MR REHA BRI E) FEDRRR LT

ERER 83,001
EBRME 36, 001
1 SBRaHE 1.00 36,001 36, 001

=
LS 47,000
12 EBRES 1.00 47,000 47,000

=




RER-FET/\vr—

ML TEBER CBRHR) FEDRRNES

51
B FrEER 1RLY
A F g - IR B = R % % i w =
AR
A 1.00 66, 900. 00 66, 900
F AR (F&ET)
A 1.50 58, 600. 00 87,900
AR (A)
A 2.50 51, 200. 00 128, 000
AR (B)
A 2.50 41, 600. 00 104, 000
=1 B 1E%8eH - 1.00= 386, 800. 00 386, 800
52
B BRURE - BH 1LY
A F g - IR B = R % % i w =
AR (A)
A 1.50 51, 200. 00 76, 800
AR (B)
A 2.50 41, 600. 00 104, 000
Hifi8
A 2.00 29, 000. 00 58, 000
=1 B 1E%8eH - 1.00= 238, 800. 00 238, 800
53
B BEESEE 1LY
A F g - IR B = R % % i w =
F AR (F&ET)
A 3.00 58, 600. 00 175, 800
AR (A)
A 4.50 51, 200. 00 230, 400
AR (B)
A 4.50 41, 600. 00 187, 200
AR (C)
A 6.50 32, 800.00 213, 200
Hii 8
A 2.00 29, 000. 00 58, 000
=1 B 1E%8eH - 1.00= 864, 600. 00 864, 600




RER-FET/\vr—

ML TEBER CBRHR) FEDRRNES

&5 4
B ERFOHE 1RLY
A F g - IR B = R ® % i w =
F AR (F&ET)
A 3.50 58, 600. 00 205, 100
AR (A)
A 8. 50 51, 200. 00 435, 200
AR (B)
A 4.50 41, 600. 00 187, 200
AR (C)
A 7.00 32, 800. 00 229, 600
Hifi8
A 1.50 29, 000. 00 43, 500
=1 B 1E%8eH - 1.00= 1, 100, 600. 00 1, 100, 600
&S5
£ EREESW 1RLY
A F g - IR B = R ® % i w =
F AR (F&ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 3.00 51, 200. 00 153, 600
AR (C)
A 2.00 32, 800. 00 65, 600
Hifi8
A 2.00 29, 000. 00 58, 000
=1 B 1E%8eH - 1.00= 335, 800. 00 335, 800




RER-FET/\vr—

ML TEBER CBRHR) FEDRRNES

ES .6
B BIAERORYFELD 1RLY
A F g - IR B = R ® % i w =
F AR (F&ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.50 51, 200. 00 76, 800
AR (B)
A 1.00 41, 600. 00 41, 600
AR (C)
A 1.50 32, 800. 00 49, 200
Hifi8
A 1.00 29, 000. 00 29, 000
=1 B 1E%8eH - 1.00= 255, 200. 00 255, 200
&5 17
B . BRTE EED
A F g - IR B = R ® % i w =
F AR (F&ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51, 200
=1 &t 1E%8EH - 1.00m 109, 800. 00 109, 800
58
£ . PREREG EED
A F g - IR B = R ® % i w =
F AR (F&ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51, 200
=1 &t 1E%8EH - 1.00m 109, 800. 00 109, 800




RER-FET/\vr—

ML TEBER CBRHR) FEDRRNES

59
B xEBE 1EEY
A b g - IR ==L ivs = Bl il %8 i w =
AR
A 1.00 66, 900. 00 66, 900
F AR (F&ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51, 200
=1 &t 1E%8EH - 1.00m 176, 700. 00 176, 700
&5 :10
B MESER 1REY
A b g - IR ==L ivs = Bl il %8 i w =
F AR (F&ET)
A 1.50 58, 600. 00 87,900
AR (A)
A 2.50 51, 200. 00 128, 000
AR (B)
A 2.50 41, 600. 00 104, 000
AR (C)
A 3.00 32, 800. 00 98, 400
=1 &t 1E%8eH - 1.00= 418, 300. 00 418, 300
=11
&% EHEARE 1REY
A b g - IR ==L ivs = Bl il %8 i w =
EHXARE
= 1.00 36, 001.00 36, 001
=1 B 1E%8eH - 1.00= 36, 001.00 36, 001




RER-FET/\vr—

ML TEBER CBRHR) FEDRRNES

&5 12
2% EBHRS IEEP)
% i FE - BRTE Bir = B {f ® B wmE L
EBRRRE
% 1.00 47, 000. 00 47, 000
& & Egges 1. 00 47,000. 00 41,000






